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[9] 1. Solve, by Gauss-Jordan elimination, the linear system
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[8] 2. Suppose that the augmented matrix of a system of linear equations has been partially
reduced using elementary row operations to
3
—1 ;
b+3

1 =1 a-2
0 1 2b+1
(a) Find all values (if any) of @ and b for which the system is inéonsistent.

0 0 a-1

A =0 ke

(b) Find all values (if any) of a and b for which the system has a unique solution.

aA-1 #o

(c) Find all values (if any) of a and b for which the system has infinitely many solutions
and for these values of a and b find all solutions. :

Azt b eab
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9] 3. LetA=[_1 0 1],B~ 0 1| andC = [0 1]. In each of the following
2 1

(a) B+ 2AT,;
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[10] 4. Given 347! = [ ug g J and B is derived from A by adding —3 times row 2 to row 1

(ze R —R]—3R2

(a) find A; - ,> ﬂ ol
b - N

(¢) find an elementary matrix E such that EA = B.
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[10] 5. Aisa 3 x 3 matrix with det(A) = 2. Find det(B) when B is obtained by:

(a) dividing a row of A by a nonzero scalar k;

ou‘(@) CQLG(A) \

(b) interchanging any two rows of A;

dak () = - HR)

(C)B:AA;MQ‘Q: it () dek [Ar) OQUL(JAT)

Z.2: 2 = &

i

(d) B = —24;

| CMUB) uf2A) = o Ao (%)
| - = Z'*-*'(é

() B = A adj(A).
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(7] 6. Find the solution for y only of the following system by using Cramer’s Rule:

9T +y — =z
2z —y — 2z
3z + 2z
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(7] 7. Given any two n x n square invertible matrices A and B, and I the identity matrix of
size n X n, answer the following questions whether true or false.

(a) the system Ax = b can have infinitely many solutions:
True O False @
(b) A~! is a product of elementary matrices:

True EJ/ False (O

(c) A and B are row equivalent:

True IE/ False (J
(d) if AB =1, then B= A~

True E/ False (O
(e) if R is the row-reduced echelon form of A then R = I:

True E/ False (OJ
(f) adjA is invertible:

True E/ False (J

(g) det(AB) = 0:

True 0 False @/



